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AEX

RNl BN DA A S
HAHII—A 46 53 87%
H7H3Z—B 51 55 93%
HABFRE A 42 51 82%
HAHERE "B 52 55 95%
HABFREX=A 47 54 87%
HAHERE =B 47 54 87%
H A B3I A 50 50 100%
H 7 B35V B 46 47 98%
HABIIAA 52 52 100%
HAEIIHB 47 50 94%
HHHER=C 43 46 93%
HAEFSIYC 41 43 95%
HAEBEHHC 27 27 100%
HAEEEL—A 45 53 85%
HAEBZEL A 47 49 96%
HAEBREC=A 33 50 76%
H B AU A 43 43 100%
HAEBECHA 47 48 98%
HAHEE—A 40 52 77%
HAESESI A 37 51 73%
HABEE A 43 51 84%
H A HEE IO A 46 47 98%
HAERIHA 43 45 96%
HAEHZ—A 51 54 94%
HABEHX A 33 51 65%
HABEHX=A 46 51 90%
HAHEHZIOA 47 50 94%
HAEHZHA 49 52 94%
HAEEI—A 7 52 13%
HAEFEX A 44 48 92%
HABEFEX=A 42 47 89%
HAHFE IO A 47 48 98%
HABEFEXAHA 47 47 100%

/N 1433 1626 88%

REEER

sl [N SIS ON S
HUORfEE—A 41 51 80%
HIUUFfEHE—B 38 52 73%
H b EsE — A 33 50 66%




HIuffEsE — B 42 50 84%
HUUREESE = A 51 54 94%
HIuf =B 45 56 80%
H VUL fESEDD A 43 49 88%
HUUFLfESEDY B 42 50 84%
HVUFEHE— A 15 50 30%
HUUf#E—B 44 49 90%
HUUFEHER A 3] 42 74%
HUUFEHE B 34 48 71%
HUOFLEHE = A 38 55 69%
HUUF 2= B 54 56 96%
H VUL EET A 37 55 67%
H VUL E £y B 35 53 66%
H VUi —A 35 4 83%
HUUHHfir—B 36 38 95%
H VUi — A 39 39 100%
HUUH iz — B 22 39 56%
HUORe#fir = A 32 39 82%
HUuH iz =B 35 39 90%
H Va8 d A 39 39 100%
H VO #firhd B 29 32 91%
HREEOI=A 9 32 28%
H R3S A 20 31 65%
HIOFERE S —A 19 52 37%
HIUHEE S —B 24 50 48%
HIUHERE S —C 49 51 96%
HIURBE " A 44 51 86%
HIUR32 — B 46 51 90%
HIUk3Er = C 33 50 66%
HIURBESC = A 49 55 89%
HIUR 3 =B 43 55 78%
HIOHEE S = C 48 53 91%
HPOHE7 S Y A 46 48 96%
H VaHe3 Y B 40 42 95%
H POHe3 sy C 45 45 100%
HORGFESEEE=A 4 18 22%
H R385 A 16 26 62%
HUOFAMNE—A 19 53 36%
HIUE 9 —B 16 50 32%
HIUE N — A 38 49 78%
HIUHAME— B 41 49 84%
HUORAMNE = A 49 52 94%
HIUE M =B 48 53 91%
HUOHHMEIU A 45 49 92%




H U 44U B 42 47 89%
HoHEC=A 9 2%
H AU A 11 73%
HIUEEL— A 43 51 84%
HIuE A —B 35 49 71%
HIUEG AL A 32 47 63%
HIUE A~ B 45 51 88%
HIUEG AL = A 47 53 89%
HIUE A =B 46 52 88%
H U A3200 A 54 56 96%
H Ui AU B 49 53 92%
H_FEC=A 3 8 38%
H @z A 10 14 71%
H b Esr—A 15 53 28%
HIu§Ec—B 56 57 98%
HIHRE S — A 40 59 63%
HIUEEC — B 35 49 71%
HIHE = A 46 51 90%
HIUE 8 =B 52 57 91%
H a5 d A 50 54 93%
H U854 B 43 50 86%
HIHHEE— A 18 51 35%
HIUREE — A 41 47 87%
HIHEE= A 47 51 92%
H IH7 e =ErY A 37 42 88%
HofHC=A 10 24 42%
H 37 H b A 11 20 55%
HIUE H 32— A 42 50 84%
HIuE Hx—B 6 50 12%
HIui He—C 3 46 7%
HIUE H32—D 47 4%
HIUE HC = A 36 44 82%
HIUE Hx =B 43 55 78%
HIU He = C 39 55 71%
HIUE H32 =D 36 55 65%
HIUE H = A 43 52 83%
HIuE Hx =B 42 47 89%
HIE Hx = C 40 50 80%
HPUEH3Z=D 31 48 65%
HIUE; H32h A 39 45 87%
HIUE; Hzu B 41 46 89%
HPUF; Hzih C 47 51 92%
HPUE; H32u D 39 52 75%
H DU PR S B — A A DE 28 63 41%




HUORERE A EE T — A 39 55 71%
HUOR ERE A EE T = A 40 51 78%
H VUREEIRESEE THIY A 41 50 82%
H_FEC=A 14 50%
H —F g2 A 10 70%
H Y g 2—A 20 54 37%
H Uk pEC—B 16 50 32%
HIURPESL— A 47 57 82%
HIUE P — B 45 53 85%
HIUREPESL=A 44 54 81%
HIUE P =B 46 57 81%
ST LN 50 51 98%
H Pk g sd B 47 51 92%
H_REEE=A 5 13 38%
H _FEIEEV A 11 18 61%
H b #lzE— A 15 63 24%
H Y #EE — A 42 61 69%
HIHH# = A 45 58 78%
H I #l=Erd A 52 56 93%
H VOHE B A S AR 0 1 0%
H VOR e b el 0 21 0%
/NET 3774 5117 74%
BT
R} 2 DEER SN BRSNS SGEES
HEVU R B P 1 B — 26 37 70%
HEVU R B R A Bt — 16 29 55%
HEVU RS B P 1 Bt — 8 16 50%
AE VU E PR s 1 EE Y 7 13 54%
ALV E PR B e — 22 36 61%
AU PR e 19 28 63%
AU EPEE D e = 21 31 68%
ALV PR B e 11 20 55%
MR =A 39 10%
HTREECI=B 43 5%
AR A 24 17%
i e s 33 6%
AEVOREFE S — A 22 41 54%
VIR —B 24 49 49%
VIR —C 25 52 48%
AEVORGFC A 14 41 34%
VIR — B 23 45 51%
VIR . C 17 42 40%
VIR = A 21 36 58%
VIR =B 19 45 42%




HEVIR S =C 12 33 36%
AEVORZ ST A 21 34 62%
HEVIR S B 23 34 63%
HEVOFRHESIIY C 17 34 50%
HEVORE A — 20 39 51%
HEVURE A — 14 26 54%
VR A = 13 24 54%
HEVURE AT 16 17 94%
HEVIR S — 17 43 40%
AEVUREE S — 8 18 44%
VIR E S = 11 21 52%
AETI ST 13 20 65%
VIR HSZ—A 24 53 45%
HEVIRHSZ—B 34 47 72%
VORI H X A 26 43 60%
VIR H X B 36 49 73%
BV H = A 19 38 50%
HEVORHSCL=B 20 44 45%
HEVOF H SZh A 26 30 87%
HEVIRH S B 17 35 49%
HEVIR R — A 16 38 42%
HEVIRE R — A 11 25 44%
HETIR R = 14 43 33%
HEVORE T A 23 41 56%
HEVIR S — 27 45 60%
AEVOREPE S — 19 37 51%
HEVOREPE S = 15 53%
AEVORE PSP 26 35%
AEVUR PR 88 3 0%
/et 821 1655 50%
it
Nl SN D& A
P LE P — A 0 4 0%
GO RE TR A 0 7 0%
HE TR T — A 1 5 20%
HE TR T — A 0 3 0%
HEEFEEERTAT— A 1 9 11%
HE - BEEERTFT — A 3 7 43%
THE BRI — A 1 3 33%
TEEERC AT — A 0 7 0%
BH - DEESC Fr— A 1 6 17%
BE-EPEERAC AT — A 1 5 20%
W INE BT — A 0 7 0%
THESNESCBT — A 0 7 0%




BE DR NET—A 1 5 20%
TEE AR T — A 0 5 0%
TSR E T — A 0 4 0%
BE DR SRR A 2R — A 0 2 0%
BE DR SRR 22 E — A 0 7 0%
T2 58— A 6 15 40%
TE IR — A 3 13 23%

/NET 18 121 15%




